Team #1

Team Name: Alkali Metals

H: 1s?

Li: 1s? 2st

Na: 1s? 2s? 2p° 3s’

K: 1s? 2s? 2p® 3s? 3p° 4s'

Rb: 1s2 2s% 2p® 3s? 3p® 4s2 3d'° 4p® 5s!

Cs: 1s? 2% 2p° 3s? 3p® 4s* 3d'° 4p® 552 4d'° 5p® 6s!

Fr: 1s? 2s? 2p° 3s? 3p® 4s? 3d'° 4p° 5s% 4d'° 5p® 652 414 5d'° 6p° 7s'

Team #2

Team Name: Alkaline Earth Metals

Be: 1s? 22

Mg: 1s* 2s 2p® 3s*

Ca: 1s* 2s? 2p® 3s? 3pS 4s?

Sr: 1s? 28?2 2p® 3s? 3p® 4s? 3d1°4ps 5¢?

Ba: 1s? 2s* 2p® 3s? 3p® 4s* 3d'° 4p® 552 4d'° 5p° 6s?

Ra: 1s? 2s* 2p® 3s? 3p® 4s? 3d'° 4p® 5s? 4d'° 5ps 6s? 41 5d'° 6p® 7s?

Team #3

Team Name: Halogens

F: 1s* 2s* 2p*

Cl: 1s? 2s% 2p°© 3s? 3p®

Br: 1s? 2s* 2p® 3s? 3p® 45 3d'° 4p°

I: 1s? 2% 2p® 3s? 3p® 4s? 3d'° 4p° 5% 4d'° 5p°

At: 1s? 2s? 2p° 3s? 3p® 4s? 3d'° 4p® 5s? 4d'° 5p° 6s* 44 5d'° 6p°

Ts: 1s? 2s? 2p°© 3s? 3p® 4s* 3d'° 4p® 552 4d'° 5p° 6s? 41" 5d'° 6p° 7s* 5f'* 6d'° 7p°



Team #4

Team Name: Noble Gases

He: 1s?

Ne: 1s? 2s* 2p°

Ar: 1s? 2s% 2p¢ 3s? 3p®

Kr: 1s? 2s? 2p® 3s? 3p® 4s* 3d'° 4p°

Xe: 1s? 2s? 2p° 3s? 3p° 4s? 3d'°4p® 552 4d'° 5p°

Rn: 1s? 2s? 2p® 3s? 3p® 4s? 3d'° 4p° 5s% 4d'° Sp® 6s? 4£'* 5d'° 6p°

Og: 1s? 25% 2p°© 3s? 3p® 4s? 3d'° 4p® 55% 4d'° 5p® 6s* 4f'* 5d'° 6p° 7s* 54 6d'° 7p®

Team #5

Team Name: Transition Metals

Mn: 1s? 2s? 2p® 3s* 3p© 4s* 3d°

Fe: 1s? 2s* 2p® 3s? 3p® 4s* 3d°

Tc: 1s? 2s* 2p® 3s? 3p® 4s? 3d'° 4p® 5s* 4d°
Cu: 1s? 2s* 2p® 3s? 3p® 4st 3d'°

Ag: 12 252 2p6 3s? 3p© 4s? 3d 10 4ps Bst 4d1°
Zn: 1s* 2s? 2p° 3s? 3p® 4s* 3d1'°

Cd: 1s? 252 2p® 3s? 3p® 4s? 3d'°4p° 552 4d'°

Team #6

Team Name: Inner Transition Metals

Pr: 1s? 2s? 2p° 3s? 3p® 4s? 3d'°4p° 55 4d'° 5p° 6s? 4f°

Nd: 1s? 2s? 2p® 3s% 3p® 452 3d'°4p® 552 4d'° 5p° 652 4f*

Sm: 1s? 2s? 2p® 3s? 3p® 4s? 3d'°4p® 5s? 4d'° 5p® 6s* 41°

Pu: 1s? 252 2p® 3s? 3p® 4s? 3d'°4p® 552 4d'° 5p° 65> 414 5d'° 6p® 7s* 51°
Dy: 1s? 252 2p® 352 3p® 4s% 3d'° 4p® 5s? 4d'° 5p® 6s? 4{'°

Cf: 152 2s% 2p® 3s? 3p® 4s? 3d'1°4p° 552 4d1° 5p° 652 4114 5d1° 6p° 7s* 5f1°
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